NMpeobpasoBaHuna 6yKBEHHbIX TPUFOHOMETPUUYECKNX
Bblpa>XeHUM

3cos(mw — sin(Z
1. 1. Haiiaure 3HaueHne BbIpAXKEHUS (x=p)+sin(5 +Pp) .

cos(B +3m)

Pemenne.
B cwiny mnepuommunoctH KocuHyca cos(f +37m) =cos(f+m). J[lanee wucnombdyem (HopMyIisl
IIPUBCICHUSA:

3cos(m—B)+sin(5+B) _ —3cosp+cosp

= 2.
cos(w+B) —cosf3
OtBert: 2.
2sin(a —7m) +cos(3X + o
2. 2. HaiiguTe 3HaUYCHUE BBIPAKCHUS in( - )+ ( 2+ )
sin(a + 1)
Pemenne.
Brmonanm npeobpazoBanus:
2sin(o — 7m) + cos(3F + ar) _ —2sin(m—o)+sinae  —2sina+sino |
sin(ot + 1) B —sino B —sino -

Orser: 1.
3. 3. Haifnute 2cos2a, ecmu sina = —0,7.

Pemenne.
HcnonbzyeM ¢hopMyITy KOCHHYCa JBOWHOTO yria: cos2o =1 —2 sin?a. [Tomygaem:

2cos2a = 2(1 —2sin® &) =2(1 —2-(—0,7)*) =2(1—-2-0,49) = 0,04.

Otset: 0,04.



